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QUESTION 1

What is the best method to measure customer consumption of technology? 

A. telemetry and analytics 

B. recurring revenue management 

C. enterprise CRM and incident management 

D. content management 

Correct Answer: A 

 

QUESTION 2

What is the purpose of targeted use cases? 

A. They highlight the product differentiation from a competitor. 

B. They define how a solution is applied to enable a desired outcome. 

C. They function without the purchase of additional services. 

D. They provide customers with ways to take advantage of additional features. 

Correct Answer: B 

 

 

QUESTION 3

From a Customer Success perspective, which reason to monitor your customer\\'s health is the most important? 

A. It provides the opportunity to address any changes in the customer\\'s experience or actions around the solution 

B. It allows the customer to identify unused licenses so they can be addressed via a service improvement plan 

C. Understanding your customer\\'s health directly enables renewals 

D. It gives the customer valuable insight so they can automatically renew critical on time 

Correct Answer: A 

 

 

QUESTION 4

Refer to the exhibit. 
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Based on the stage and health reflected, what must be the first priority of the success plan? 

A. Design and propose a discount on product G. 

B. Contact and collaborate with the individuals involved in the onboarding of product E. 

C. Offer and encourage the opportunity for the customer to participate in a success story for product F. 

D. Identify and document barriers that impact product C. 

Correct Answer: D 

 

QUESTION 5

What is the financial implication of churn? 

A. reduced technology footprint 

B. increased user licensing 

C. reduced revenue 

D. increased renewal value 

Correct Answer: C 
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